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1.What determines the replenishment strategy of a component in the SAP Best Practices Scenario
Manufacturing with Kanban Supply into Production (1E3)?

A. Control cycle

Production Supply area

B. MRP type

C. Procurement type

Answer: A

2.Which organizational units can form a sales area in SAP S/4HANA Cloud?
A. The sales organization, the delivering plant, and the division

B. The sales organization, the distribution channel, and the shipping point
C. The sales organization, the distribution channel, and the division

D. The company code, the plant, and the sales organization

Answer: C

3.Which technology is used to integrate SAP S/4HANA Cloud with other SAP and non SAP applications?
A. SQL Connect function

B. SAP Landscape Transformation Replication Server

C. Direct connectivity

D. SAP Change and Transport System

Answer: C

4.In which situations would Repetitive Manufacturing be used for the production process? (2 correct)
A. When the same or similar products are produced over a long period

B. When order-based target and actual cost are created

C. When raw material demand triggers alternative procurement scenarios

D. When products always follow the same production sequence through the 1-1 machines

Answer: A, D

5.Why do you use APIs? (2 correct) *

A. To enhance pre-delivered applications with custom fields for your SAP S/4 u HANA Cloud system
B. To connect your SAP S/4 HANA Cloud system to other systems

C. To create a data definition for extending a CDS view in your SAP S/4 HANA L Cloud system

D. To integrate apps in your SAP S/4 HANA Cloud System with SAP Cloud Platform

Answer: B, D
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